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Choose one of the three following subjects:

First subject:
Memories are conserved in the brain in form of material traces.
1- Explain this opinion of Ribot and state the problematic it raises.
2- Discuss this opinion in the light of other theories that you know.

3- Do you think that memory recalls the past faithfully and objectively?
Justify your answer.

Second subject:
The experimental method is based on the mind that creates hypotheses.
1- Explain this idea of Claude Bernard and state the problematic it raises.

2- Discuss this statement by showing the fundamental role of the
observation in the experimental method.

3- In your opinion, should the scientist consider the moral values in his researches?
Justify your opinion.

Third subject: Text

We are condemned to be free [... ] If man's existence really precedes his essence, then
he is responsible for what he is. Thus, the first step of existentialism is to make man in
control of himself and totally responsible for his existence. When we say that man is
responsible for himself, we don’t want to say that man is responsible for his strict
individuality, but that he is responsible for all men...When we say that man chooses himself,
we mean by this that everyone of us chooses himself, but in this way we also want to say that
by choosing himself man chooses all men as well.

In fact, the act of creating the man we want to be can’t be considered our act unless we create,
at the same time, the image of the man who must exist according to our estimation.

To choose to be this or that, is to affirm, at the same time, the value of what we choose,
because we can never choose the evil; what we choose is always the good, and nothing can be
good for us unless it is good for all people... Thus our responsibility is much bigger than
what we could suppose, because it is binding on humanity as a whole... The man who
obligates himself and who is aware that he does not only choose to be, but that he is also a
legislator who chooses, at the same time, what humanity is as a whole. Such a man cannot
escape the feeling of his total and profound responsibility.

Jean Paul Sartre

(9 pts)
(7 pts)

(4 pts)

(9 pts)
(7 pts)

(4 pts)

1- Explain this text of J.P. Sartre and state the problematic it raises. (9 pts)

2- Discuss the above ideas in the light of other theories about freedom

and responsibility. (7 pts)

3- In your opinion, does the act committed by an individual make
all the group to which he belongs responsible too? Justify your answer.

(4 pts)
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